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Paper / Subject Code: 80503 / Operating System. o ) Y (4' P
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(2 %2 Hours) © - [Total Marks: 75]
N.B. 1) All questions are compulsory. ISR

2) Figures to the right indicate marks.

3) Ilustrations, in-depth answers and diagrams will be appreciated

4) Mixing of sub-questions is not allowed.

Q.1 Attempt all questions
(a) Multiple Choice Questions. ; % PN A
1. Software may trigger an interrupt by execuhng a spean operatnon ealled 9

A)system file B) system program
2. Which is/are the advantage(s) o gmﬂtxprocessor sYshems?
A) Increased throughput B) Ecofiomy‘of scaLe
C) Increased reliability [ ' T &

3

\%. Every address generated by the CPU is divided into two parts: a and
\ a page offset N

4. An ag_idr_es_s -gerierated by CPU is commonly referred to as a
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5. In the algorithm, the disk arm starts at one end of the disk and mbves
toward the end, servicing requests as it reaches each cylmder, unhl it gets to the
other end of the disk. . .

(c) Answer in one or two sentences.
1. What is mean by time sharing system?
2. What is a device queue?

4 Which memory management strategies suffgrfmnyextemakfragmemahon? A
5. What is file open count? e R I o e S R N

Q.2 Attempt the followmg (Any THREE)

(15M)

5 (d) Desarl ¢ yarious cr;t;erxa forCPU- scheduhng algorithms.
¥ 15 Tesou rce alIoCatlon graph? Using resource allocation graph, show that a
in the graph xs bofh necessary and sufficient condition for the existence of

: safe stahe algorxthm for deadlock avoidance.
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Q.4 Attempt the following (Any THREE) RN ST (15)
(a) Explain in short segmentation technique. PR X P
(b) Describe procedure for handling page fault in virtual memory management
with diagram.
(c) Assume that there are total 200 tracks are present on each au:face of the disk. 1f
request queue is 45, 39, 90, 65, 180, 120 and initial posztlon -of the head is 50
Apply SSTF disk scheduling and calculate total headmovements N AV

(d) Explain in brief Single-level and Two- level duectory sttucture TR %
(¢) Write a note on linear list and hash taBle ilgonthms for _d1rectery
implementation. : S R A "

(f) Which are access method of file system, Explajﬁ

Q.5 Attempt the following (Any 'I'HREE) R
Wnte anote on operatmg system servxces 3 _" o3
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